o
(¥

<3 @> (rad)
<)
o R
)

..........................

=t

+
T - - - e
o+ .
1 5 H
Eal H
LTI N
- .

2 3
TPl[Z()) (PCA t%obeamlinélf)

...........................

107 1

—a— DUIVT U IIIdI SLE] (UZU Tld. ULU

—e— D M:m it Sre EtoZO etay] §J

—— D Mj@ le_ste 1t020 —eta?, 0 2

—+— DOMfa: e‘r(s.t E 020 erazZpOt B

—— DOM™p P erlc step2 pllto 0_eta2p0to2p5

)
-
® o
S S
I

<°dxy>(“m
A O
T

20 --eeeeie

ot
=T

o :
107 1

<opJp,> (%)
O = N W N O

: 2 3
TPlpg)T (PCA tloobeamlin:eL)O

z 100

o :
107 1

2 3
TPl[g)T (PCA f%)obeamlinéf)




	Contents
	Page 1


